Q1. 

Read the following passages.  Identify the study design and determine what measures of disease occurrence and measures of disease association can be estimated. Please justify your choices. 

Q1. Questionnaires were mailed to every 10th person listed in city telephone directory.  Each person was asked to list age, sex, smoking habits, and respiratory symptoms, during the preceding seven days.  About 20% of questionnaires were completed and returned.  About 10% of respondents reported having upper respiratory infections. 
Cross sectional/prevalence and/  prevalence / odds ratio 

Q2.  1500 employees of a major aircraft company were initially examined  in 1951 and were classified by diagnostic criteria for coronary artery disease (CAD).  New cases of CAD have been identified by examinations every three years and through death certificates.  Incidence rate in different subgroups have been computed

Prosp cohort / CI / IDrate  / and CI rate ratio , ID rate ratio  
Q3.
A random sample of middle age sedentary adults was selected from four census tracts, and each person was examined for coronary artery disease (CAD).  All persons without disease were randomly assigned to either a two year program of aerobic exercise or a two year arthritis prevention non aerobic exercise program.  Both groups were observed semi annually for incidence of CAD.

Randomized control trial /CI and ID/  RR and ID rate ratio 

Q4.   A 39 year old woman presents with a mild sore throat, fever, malaise, and headache, and is treated with penicillin for presumed streptococcal infection.  She returns in a week with hypertension, fever, rash, and abdominal pain.  She responds favorably to chloramphenicol after a diagnosis of rocky mountain spotted fever 

Case report 

Q5.    50 patients of thyroid cancer are identified and surveyed by patient interviews to identify previous radiation exposure

Case series
Q6.     Patients admitted for carcinoma of stomach and patients without a diagnosis of cancer are interviewed about their chewing tobacco history to assess possible association of chewing tobacco and gastric cancer

Case control /Odds/ Exposure OR 

Q7.      Data on median income for households in census tracts within a large metropolitan county in USA were obtained from census bureau current population survey.  Air pollution levels were measured in these same census tracts during a period f one month.  The data were analyzed using a geographic information system (GIS) to produce maps showing pollution and income levels by census tracts

Ecologic / correlation/ 
Q8.     To study the genetic factors a large population is surveyed to determine the prevalence of a newly recognized disease by age gender and ethnicity

Descriptive study

Q9.    The risk in first degree relatives of people with the disease is compared with the risk among first degree relatives of people without the disease 

Cohort 
Q10.  The proportion of people with the disease whose fathers has eth disease is compared with the corresponding proportion for people without the disease 

Case control 

Q2. 
Key 

a) initial butter application 

Ca         Co

Initial Butter 
17        20

No initial butter83         280                                           OR=ad/bc = 4760/1660 = 2.86 

b) trained birth attendant (TBA)  

Ca         Co

TBA
 
 6          56

Not TBA
94         244                                          OR=ad/bc =1464 /5264 = 0.28  

c) short cord length

Ca         Co

Short Cord 

34        137

Cord not short

66       163                               OR=ad/bc = 5542/5542 = 1.00 

d) Initial disinfectant used 

Ca         Co

Initial disinfect 

03           31

No initial disinfect
97         269                              OR=ad/bc = 807/3007 = 0.27 

Interpret 

a) Odds of applying initial butter among cased were thrice (2.86 times) more compared to odds  in controls 

b) Odds of getting delivered by TBA in cases were 72 % less compared to odds in controls 

c) Odds of being born with short cord length were equivalent to odds of being born with short cord length in controls 

d) Odds of using an initial disinfectant in cases were 73% less compared to odds of using initial disinfection in controls  

	NAME: ________________________________

Roll No:________________________________

Q. In a village 100 Neonatal tetanus cases were compared with 300 neonates without history of neonatal tetanus (controls); 3% of cases had an application of disinfectant on umbilical cord compared to 10% of controls.   

a) Make a 2x2 table and calculate Odds Ratio.  

b) Interpret Odds Ratio


	
	NAME: ________________________________

Roll No:________________________________

What are the advantages and disadvantages of case control study ? 

advantages

· Efficient  in time & cost 

· Etiology of long latency period can be studied

         e.g. chronic diseases 

· Multiple exposures could be studied
Disadvantages

· Errors in Case definitions and in characterization  of exposure 

· Disease and exposure have already occurred and potential for bias remains 

               - selection

               - recall

                - interviewer




	NAME: ________________________________

Roll No:________________________________

Explain the design of case control study 

What measure of association is used in a case control study 
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ODDS RATIO
	  aa
	NAME: ________________________________

Roll No:________________________________

Explain the design of cross sectional study to show whether it is analytic or descriptive study 
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IT CAN BE BOTH 

DESCRIPTIVE AS SHOWN 

ANALYTIC WHEN COMPARING GROUPS BASED ON HYPOTHESIS

	
	
	

	Explain the design of a prospective cohort study 

What measure of association is used in Cohort study 
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RELATIVE RISK 
	
	 Explain the design of an experimental study 

What measure of association is used in an experimental study 
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RELATIVE RISK 



	Q.  What are the advantages of cohort study ?  

1. Valuable in rare exposures. 

2. Can study multiple effects of a single exposure.

3. Exposure happened before outcome (Temporality) 

4. Can calculate incidence rates.

5. Can quantify Risk, Relative risk, & Attributable Risk

6. Dose response ratio can be calculated.

7. Low potential for bias than case-control study 


	  aa
	Q What are the disadvantages of case control study ? 
· Errors in Case definitions and in characterization  of exposure 

· Disease and exposure have already occurred and potential for bias remains 

          - selection

           - recall

            - interviewer



	
	
	

	 A cohort study regarding exposure to animal hides, followed 400 exposed and 400 non exposed subjects for five years to observe the development of dermatitis.  Of the exposed 180 developed dermatitis and those who were unexposed 50 developed dermatitis.  Calculate the Relative Risk and interpret 
                        DERM+      DERM -      TOT
ANM HID+     180             220             400

ANM HID-       50              350             400

180/400= .45

50/400-= .125 

RR= .45/.125=3.6 

Incidence  of dermatitis is 3.6 times more in those who were xposed to animal hides compared to those who were not exposed to animal hides


	
	A cohort study regarding exposure to animal hides, followed 800 exposed and 800 non exposed subjects for five years to observe the development of dermatitis.  Of the exposed 280 developed dermatitis and those who were unexposed 150 developed dermatitis.  Calculate the Relative Risk and interpret 
                        DERM+      DERM -      TOT
ANM HID+     280             520            800

ANM HID-      150            650              800

280/800= 0.35

150/800-= 0.1875

RR=  0.35/0.1875= 1.86

Incidence  of dermatitis is 1.86 times (or twice)  more in those who were xposed to animal hides compared to those who were not exposed to animal hides

 


